

Welcome eduncan@ppines.com | Logout



Home Search Source Contracts Tools

<u>View by Line Item</u> | **View by Supplier**

Email Tabulation | Generate PDF | View Printable

Bid #PSUT-20-12 - Mechanical Integrity Testing of the Wastewater Treatment Plant Injection Wells

Creation Date Sep 23, 2020 End Date Nov 3, 2020 2:00:00 PM EST

Start Date Oct 13, 2020 5:10:50 PM EDT Awarded Date Not Yet Awarded

Southeast Drilling Services \$107,400.00 (7/7 items)

Bid Contact Marie Brood Address 10614 E US Hwy 92

sedbids@southeastdrilling.net Tampa, FL 33610

1	813-968-7277 DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTINIZED PP-SWORN	I DRIVENDODINEO DRIVO	CR DD.WO								
Agency Notes:	DROGEREE FF-EQUAL FF-EDIK FF-EDCAL FF-SCRUTINIZED FF-SWOR	Supplier Notes:									
Item#	Line Item	Unit Price	Qty/Unit	Total Price							
PSUT-20-1201-01	Mobilization/Demobilization - First Offer	\$17,000.00	1 / each	\$17,000.00							
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:									
PSUT-20-1201-02	Downhole Video Survey - First Offer	\$7,000.00	2 / each	\$14,000.00							
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:									
PSUT-20-1201-03	Hydrostatic Pressure Test with Inflatable Packer - First Offer	\$15,000.00	2 / each	\$30,000.00							
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:									
PSUT-20-1201-04	Temperature, Background Gamma-Ray, RTS, Final Gamma-Ray Logging - First Offer	\$7,000.00	2 / each	\$14,000.00							
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:									
PSUT-20-1201-05	Standby Time Ordered by Engineer - First Offer	\$350.00	24 / hour	\$8,400.00							
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:									
PSUT-20-1201-06	Casing Brushing - First Offer	\$5,000.00	2 / each	\$10,000.00							
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:									
PSUT-20-1201-07	Kill Well - First Offer	\$7,000.00	2 / each	\$14,000.00							
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:									

All Webb's Enter	prises, Inc.			\$111,200.00	(7/7 items)						
<u>allv</u> Ph	vid Webb Jr. <u>webbs@allwebbs.com</u> 561-746-2079 ·DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTINIZED PP-SWORN	Address 309 Commerce Way Jupiter, FL 33458 RN PP-VENDORINFO PP-VOSB PP-W9									
Agency Notes:		Supplier Notes:									
Item#	Line Item	Unit Price	Qty/Unit		Total Price						
PSUT-20-1201-01	Mobilization/Demobilization - First Offer	\$4,000.00	1 / each		\$4,000.00						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: Attached are a	dditional bid docs	3							
PSUT-20-1201-02	Downhole Video Survey - First Offer	\$4,500.00	2 / each		\$9,000.00						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:									
PSUT-20-1201-03	Hydrostatic Pressure Test with Inflatable Packer - First Offer	\$20,000.00	2 / each		\$40,000.00						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:									
PSUT-20-1201-04	Temperature, Background Gamma-Ray, RTS, Final Gamma-Ray Logging - First Offer	\$9,000.00	2 / each		\$18,000.00						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:									
PSUT-20-1201-05	Standby Time Ordered by Engineer - First Offer	\$50.00	24 / hour		\$1,200.00						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:									

PSUT-20-12--01-06 Casing Brushing - First Offer \$11,500.00 | 2 / each \$23,000.00 **Product Code:** Supplier Product Code: Supplier Notes: Agency Notes: Kill Well - First Offer \$16,000.00 PSUT-20-12--01-07 \$8,000.00 2 / each Supplier Product Code: **Product Code:** Agency Notes: Supplier Notes:

Layne Christensen Company \$117,426.00 (7/7 items)

Bid Contact Craig Brugger

marybeth.rios@layne.com Ph 239-275-1029

Address 5061 Luckett Road FORT MYERS, FL 33905

Address 11865 U.S. HWY 41 SOUTH

GIBSONTON, FL 33534

Fax 239-275-1025 Qualifications FED-LOBBY&DEBAR PP-DRUGFREE PP-EQUAL PP-HUBZONE PP-LOCAL PP-MBE PP-SCRUTINIZED PP-SWORN PP-VENDORINFO PP-

vo	SB PP-W9 PP-WBE									
Agency Notes:		Supplier Notes:								
Item#	Line Item	Unit Price	Qty/Unit	Total Price						
PSUT-20-1201-01	Mobilization/Demobilization - First Offer	\$14,000.00	1 / each	\$14,000.00						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
PSUT-20-1201-02	Downhole Video Survey - First Offer	\$10,000.00	2 / each	\$20,000.00						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
PSUT-20-1201-03	Hydrostatic Pressure Test with Inflatable Packer - First Offer	\$18,000.00	2 / each	\$36,000.00						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
PSUT-20-1201-04	Temperature, Background Gamma-Ray, RTS, Final Gamma-Ray Logging - First Offer	\$10,000.00	2 / each	\$20,000.00						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
PSUT-20-1201-05	Standby Time Ordered by Engineer - First Offer	\$199.00	24 / hour	\$4,776.00						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
PSUT-20-1201-06	Casing Brushing - First Offer	\$7,350.00	2 / each	\$14,700.00						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								
PSUT-20-1201-07	Kill Well - First Offer	\$3,975.00	2 / each	\$7,950.00						
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:								

A.C. Schultes of Florida \$123,300.00 (7/7 items)

Bid Contact **Christy Gray**

admin.acsfl@verizon.net

Ph 813-741-3010

Qualifications PP-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTINIZED PP-SWORN PP-VENDORINFO PP-VOSB PP-W9

Qualifications PP	-DRUGFREE PP-EQUAL PP-LBTR PP-LOCAL PP-SCRUTINIZED PP-SWORT	N PP-VEINDORINFO PP-VO	DD PP-W9						
Agency Notes:		Supplier Notes:							
Item#	Line Item	Unit Price	Qty/Unit	Total Price					
PSUT-20-1201-01	Mobilization/Demobilization - First Offer	\$14,000.00	1 / each	\$14,000.00					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
PSUT-20-1201-02	Downhole Video Survey - First Offer	\$5,000.00	2 / each	\$10,000.00					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
PSUT-20-1201-03	Hydrostatic Pressure Test with Inflatable Packer - First Offer	\$13,200.00	2 / each	\$26,400.00					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
PSUT-20-1201-04	Temperature, Background Gamma-Ray, RTS, Final Gamma-Ray Logging - First Offer	\$11,750.00	2 / each	\$23,500.00					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
PSUT-20-1201-05	Standby Time Ordered by Engineer - First Offer	\$100.00	24 / hour	\$2,400.00					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
PSUT-20-1201-06	Casing Brushing - First Offer	\$15,000.00	2 / each	\$30,000.00					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							
PSUT-20-1201-07	Kill Well - First Offer	\$8,500.00	2 / each	\$17,000.00					
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:							

Close

Questions? Contact a Periscope Source representative: 800-990-9339 or email: source-support@periscopeholdings.com

Home Bid Search Bids Orders Tools Support Privacy Logout

Copyright © 2020 - Periscope Holdings, Inc. - All rights reserved.

City of Pembroke Pines Bid Tabulation - Procurement IFB #PSUT-20-12 Mechanical Integrity Testing of the WWTP Injection Wells

TVIIIVIIIVIIIVIIIVIIIVIIIVIIIVIIIVIIIVI		Supplier Notes for Offer None	Method of Submittal BidSync	State of Florida Incorporation Doss, Certificate of Liability Insurance, State of Fl License Water Well Contractor, State of FL DBPR License, Board of Directors - Resolution Letter, & Reference Letters	Bid Security (N/A, Bid Bond, Cashier's Check, Not Submitted) 5 % Bid Bond		8. Vendor Drug-Free Workplace Certification Form Vendor complies fully	7. Equal Benefits Certification Form Included - Vendor does not provide benefits to employees' spouses in traditional marriages	6. Veteran Owned Small Business Preference Certification Included - Vendor does not meet requirements as a VOSB	5. Local Business Tax Receipts LBTR - Town of Hypoluxo, Palm Beach County & Hillsborough County	4. Local Vendor Preference Certification Included - Does not meet the requirements as a Local Vendor	A. Neither the entity nor any officers who are active in management nor any affiliate have been charged with a public entity crime.	2. Form W-9 (Rev. October 2018) Included	1. Vendor Information Form Included	Vendor Registration and Qualification Documents:	Attachment F - References Form Included	ns Statement		Attachment A - Contact Information Form Included	TOTAL BID AMOUNT \$107,400.00	(From Attachment A) Bat Ziegler - President Tei; 813 968-7277 sedbids@southeastdrilling.net wbz@southeastdrilling.net Authorized Approver: Same as above	119 Lucina Drive Hypoluxo, Florida 33462 Fax: (813) 443-0530 Primary Contact:	
Noise	Noso	Line PSUT-20-12-01-01 - Attached are additional bid docs	BidSync	te of Resolution of Shareholders Letter, Introduction ter Letter, Resumes, Palm Beach County Small e, Business Enterprise Cettificate, St of FL Corporate Docs, State of FL Water Well Contractor License,	5% Bond Letter	Included	Vendor complies fully	Vendor currently complies	nts Not Included	nty, Not Included	Not Included	A. Neither the entite acitive in managen been charged w	Included	Included		Included - See attached list	Included	Included	Included	\$111,200.00	Primary Contact: David Webb JrVice President allwebbs@allwebbs.com Authorized Approver: Same as above	309 Commerce Way Jupiter, FL 33458 Tel: (561) 746-2079 Fax: 1561) 746-4199	Company Information: 309 Commerce Way Jupiter, FL 33458 Tel: (561) 746-2079 Fax: (561) 746-4199
TO THE STATE OF TH	None	None	BidSync	Reference Letters, State of FL Corporation Docs, State of FL DBPR License, State of FL Water Well Contractor License, List of Corporate Officers, List of Claims/Arbitrations, Certificate of Secretary Corporate Docs. Certification Regarding Lobbying, & E-Verify	5 % Bid Bond	Included	Vendor complies fully	Vendor currently complies	Included - Vendor does not meet requirements as a VOSB	LBTR - Lee County	Included - Does not meet the requirements as a Local Vendor	A. Neither the entity nor any officers who are active in management nor any affiliate have been charged with a public entity crime.	Included	Included		Included - See attached list	Included	Included	Included	\$117,426.00	Primary Contact: Blake McCullers - Project Manager blake nnccullers@gcinc.com <u>Authorized Approver:</u> James Bruneio Jr Project Manager jim.bruneio@gcinc.com	5061 Luckett Road Fort Myers, FL 33905 Tel: (239)275-1029 Fax: (239) 275-1025	Company Information: 5061 Luckett Road 5061 Luckett Road Fort Myers, FL 33905 Tel: (239)275-1029 Fax: (239) 275-1025
		None	BidSync	State of FL DBPR License, State of Florida License Water Well Contractor, Certificate of Liability Insurance,	5 % Bid Bond	Included	Vendor complies fully	Vendor currently complies	Included - Vendor does not meet requirements as a VOSB	LBTR - Hillsborough County	Included - Does not meet the requirements as a Included - Does not meet the requirements as a Local Vendor Local Vendor	Neither the entity nor any officers who are active in management nor any affiliate have been charged with a public entity crime.	Included	Included		Included	Included	Included	Included	\$123,300.00	Gregory Schultes - Vice President Tel: (813) 741-3010 greg.acsfl@ventzon.net Authorized Approver: Same as above	Company Information: 1185 U.S. HWY 41 SOUTH GIBSONTON, FL 33534 Primary Contact:	Company Information: 11865 U.S. HWY 41 SOUTH GIBSONTON, FL 33534 Primary Contact: